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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iir) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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1. In 2013, Justice J.S. Verma

Committee was constituted to

suggest :

(A) Prison reforms

(B) Electoral reforms

(C) Police reforms

(D) Amendments to laws relating to

safety and security of women

9 2013 HEY <A SL.TE. gH GiEdt

HIMAS! 90 el Bl ?

(A) T&T RO

(B) feeush gumon

(C) Tfem guwom

(D) forr= geferar snfor TRemifasees

HIFTd FHRM
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Two statements are given below.
One is labelled as Assertion (A)
and the other is labelled as
Reason (R) :

Assertion (A) : Despite continues
planned initiatives for eradication of
poverty, rural poverty ratio in India

has not reduced substantially.

Reason (R) : High poverty ratio in
rural areas is largely attributed to
the socio-cultural practices of
population remaining at lower rungs

of the rural society.

In the context of the above
statements, which one of the

following is correct :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanatin
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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Match List I with List IT and select
the correct answer from the codes
given below :

List I
(Authors)
(@) Goffman
(b) Giddens
(¢) Derrida
(d) Schutz
List II
(Concepts)

() Impression management
(i1) Difference and deconstruction
(i1i) Structure and agency
(tv) Stock of knowledge
(v) Communicative action
Codes :

@ b)) (© (@)
(A @ @) @) (o)
B) & @) Gv) G)
C) @) @G @ (@)
D) ) @) Gv) @)
When an elder brother who is
a manager uses his influence to
get a job for his younger brother in

his company, this would be an
instance of :

(A) White-collar crime
(B) Corruption

(C) Delinquency

(D) Depotism
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() AT T
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(B) ITER

(C) =
(D) afTerdTSH
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What is the term for the form of
development where nature is
preserved for future generations ?

(A) Social

(B) Economic
(C) Sustainable
(D) Human

The concept of ‘unequal and uneven
development’ has been put forward
by which scholar ?

(A) A.G. Frank
(B) S. Amin

(C) G. Myrdal
(D) D. McClelland

Which of the following scholars was
a pioneer in the sociological study
of co-operatives in India ?

(A) Y.B. Damle

(B) B.S. Baviskar
(C) Don Attwood
(D) S.A. Salunkhe

In Wallerstein’s world-systems
analysis, which of the following
constitute the units of analysis ?

(A) Nation-state, World-empires,
World-economies

(B) Minisystems, World-empires,
World-economies

(C) World-empires, Nation-state,
Minisystems

(D) World-economies, Nation-state,
Minisystems
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10.

11.

Which of the following constitutes
the
development index ?

components of human

() Education

(II) Gender Empowerment
(IIT) Income

(IV) Life Expectancy
Choose the correct codes :
(A) (I) and (IV)

(B) (II) and (III)

(C) (D, (ID and (IIT)

(D) (D), II) and (IV)

The view that tribal people should
be allowed to retain their special
characteristic while becoming a part
of the mainstream is known as :

(A) Acculturation
(B) Assimilation
(C) Cultural Relativism
(D) Isolationism

Brundtland Commission Report,
‘Our Common Future’ is related
to :

(A) Terrorism

(B) Environment and development
(C) Corruption

(D) Piracy

10.

11.
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(D) fereqo

(1) fermamE qareienio
(I1D) 3cq=
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(A) THHGHATRI

(B) Qe

(C) TEhfae QYIS
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12.

13.

14.

15.

Silent Valley movement was mainly
against :

(A) Dam construction

(B) Nuclear plant construction
(C) Thermal plant construction
(D) Land acquisition for industries

MNREGA, an
adult in a rural area is assured of

According to

how many days of employment in
a year ?

(A) 50
(B) 75
(C) 100
(D) 125

Productive work force in India is in

the age group of :

(A) Between 15 to 65 years
(B) Between 18 to 65 years
(C) Between 13 to 65 years
(D) Between 15 to 45 years

As per 2011
ratio in India is :

(A) 1000—950
(B) 1000—940
(C) 1000—835
(D) 1000—995

census, male-female

12.

13.

14.

15.
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TR YHTG AT 9T rere]

TehT auid ferdt foad U= g6 foeie
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(A) 50

(B) 75
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(A) 15 ° 65 o
(B) 18 d 65 o
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TR $.H. 2011=41  SATOAT
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(A) 1000—950

(B) 1000—940
(C) 1000—835
(D) 1000—995




16.

17.

18.

19.

According to the theory of social
capillarity, people in the cities
produce less children because :

(A) They are faced with space
problem

They cannot properly educate
them

They have desire to go up the
social ladder

(D) There are social cleavages

National population policy 2000 does
not deal with .........................

(A) Women’s education

(B) Participation of men in planned
parenthood

Prevention of attrocities on
women

Health care for urban slums,
tribal groups and migrant
population

Which of the following years is
known as ‘Year of Big Divide’ in
India’s population history ?

(A) 1911

(B) 1921

(C) 1951

(D) 1971

According to Dr. B.R. Ambedkar the
dalits and marginalised in this
country will have struggle against
two adversaries. Which are they ?

(I) Brahmanism
(IT) Capitalism
(I1I) Socialism

(IV) Communalism
Codes :

(A) (I) and (II)
(B) (I) and (IV)
(C) (II) and (III)
(D) (III) and (IV)

(B)

(®))

(®);

(D)

16.

17.

18.

19.
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(A) 1911

(B) 1921

(C) 1951

(D) 1971
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20.

21.

22.

Who followed Marxism as a method
of analysis rather than a political
ideology ?

(A) N.K. Bose

(B) Radhakamal Mukherjee
(C) D.P. Mukherjee

(D) S.C. Dube

Which of the following matches is
not correct ?

(A) Louis Dumont— C a s te
based on
purity and
pollution

(B) B.R. Ambedkar— Caste as
graded
form  of
inequality
(C) M.N. Srinivas— Dominant

caste

(D) G.S. Ghurye— Racial
origin of
caste
Which of the following captures the
correct features of slums ?

(A) All the poor of city live in

slums

(B) spatial

manifestation of urban poverty

Physical and

and inequality
©)
(D)

All slum dwellers are poor

Only those at the bottom of the
caste hierarchy live in slums

20.

21.

22.
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23.

24.

Surajit Sinha used two terms to
capture the interaction of cultural
streams in India. The terms used
are :

(A) Parochial and wuniversal
stream
(B) Little and great tradition

(®);
(D)

Match the following and select the
correct answer from the codes given
below :

Simple and complex stream

Modern and traditional

Column I
(Authors)
(@) G.S. Ghurye
(b) A.R. Desai
(c) B.R. Ambedkar
(d) D. Hardiman
Column II
(Books)
(1) Caste in India
(z1) I and Other Explorations
(zi1) State and Society in India
(tv) Feeding the Bania
(v) Tribal Life in India

Codes :

@ b)) © (@)
(A) (v @i G Go)
(B) @) @) Gv) @)
©C) @) ) @ @)
D) G) @) @ Go)

23.

24.
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25.

26.

27.

28.

Which of the following captures the
approach of Indology to understand
Indian reality ?

(A) Field view

(B) Book view

(C) Radical view
(D) Subaltern view

According to which theoretical
conceptualisation, is the concept
and practice of ‘development’ a
reflection of western world
hegemony ?

(A) Marxism

(B) Modernisation

(C) Globalisation
(D) Post-development

After liberalisation of Indian
there has
in the informalisation

economy, been

of labour.

(A) Increase

(B) Substantial decline
(C) No change

(D) Marginal decline

According to Karl Marx surplus
value is produced in which mode of
production ?

(A) Ancient-slavery
(B) Feudal

(C) Capitalist

(D) Socialist

25.

26.

27.

28.
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(A) IrEF-TAmAR

(B) ®STHERI
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12



29.

30.

31.

32.

Who among the following has
formed ‘The Bombay Millhands’
Association’ in 1890 ?

(A) M.N. Roy

(B) B.G. Tilak

(C) G.K. Gokhale
(D) N.M. Lokhande

The book ‘Footloose Labour’ was
written by :

(A) David Hardiman

(B) Don Attwood

(C) Jan Breman

(D) Mario Rutten

Which of the following schemes
is launched to provide training to
the rural youths for their self-
employment ?

(A) IRDP

(B) DWCRA

(C) JRY

(D) TRYSEM

The book ‘Class and Class Conflict
in Industrial Society’ was written
by :

(A) Max Weber

(B) Karl Marx

(C) Ralph Dahrendorf

(D) Vilfredo Pareto

29.

30.

31.

32.
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33.

34.

35.

36.

Which of the following scholars
developed the ‘Responsible Unionism
Theory’ in India ?

(A) D.R. Gadgil
(B) S.A. Dange

(C) N.M. Lokhande
(D) Ashok Mehta

Which of the following is not a
determinant of population growth in
India ?

(A) Poverty

(B) Inequality

(C) Illiteracy

(D) Cultural Practices

The
reproduction of women is known

biological capacity for

as :
(A) Fertility

(B) Fecundity
(C) Birth rate
(D) Mortality

According to Malthus in the control
over population famine represents
an example of :

(A) Preventive checks
(B) Positive checks
(C) Negative checks
(D) Morbid checks

33.

34.

35.

36.
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37.

38.

39.

Which of the following indicates
the correct stages of demographic
transition ?
(I) Low fertility and low mortality
(I) High fertility and low mortality
(ITT) Low mortality and high
fertility
(IV) High fertility and high mortality
Codes :
(A) (IV), (II) and (I)
(B) (I), (I) and (III)
(C) (III), (IT) and (I)
(D) (D), (II) and (IV)
Who of the following indicated the
emergence of capitalist mode of
production in Indian agriculture ?
(A) Ashok Rudra
(B) Utsa Patnaik
(C) Alice Thorner
(D) Amit Bhaduri
Match List I with List IT and select
the correct answer from the codes
given below :
List I
(Villages)
Wangela
Ramkheri
Mahuva
Rampura
List II
(Sociologists)
(z) A.C. Mayer
(it) F.G. Bailey
(zii) M.N. Srinivas
(tv) I.P. Desai
(v) T.S. Epstein
Codes :
(@)
A © O
B) G) @
(C) @) (v)
D) Gv) @)

(@)
(b)
(c)
(d)

®) @ (@@
(v) (D)
@) (v)
@@ @
@) (v)

317.

38.

39.

DEC - 14313/111

TITeiierdehl ShIvMdT STede elishae
S C LI R A Coltc: |

(D) HH S U HHT G
(IT) =9 ST 30 Al I
(III)FHt FIeX A = TS
(IV) 3=31 SFFeR 3TIfor 3=a JIX
wfgar

(A) IV), QD) efor (D)

(B) (D), (II) for (I1D)

(C) (III), (II) &for (1)

(D) (I) (II) 33|'I'FUT (Iv)

T Terdeh] °h|U|| ARATdTe Heie
HeA TSTANE GO Seqre

qear seard FERE &a ?

(A) 3R® %%

(B) 31 USRS

(C) ofcft| &R

(D) @it wigh

Grefiet a1 9 7l 11 98 =ik
Sirewn e ST feetedn Hehdlehiqd A
IR e

w1
. (@:ér)

(@) dRTE
(b) THEE
(c) Wgl
(d) THIU

w11

(HHTSTITETR)

() WH. AR
(i) TH.SH. ool
(fii) TH.TH. #ifqerg
(jv) AT, <H
(v) .. TuREsm
A

(b)
A ) @
B) @) @
(C) (i) Gv)
D) Gv) @)

(@) ) (@
(v) (i)
@) ()
@@ @
@) ()

15

[P.T.O.



40.

41.

Which of the following is not a cause
of rising trend of migration from

rural to urban areas ?

(A) Decline of farm income

(B) Growing impoverishment of

rural population

(C) Availability of alternative

sources of livelihood in urban

areas
(D) Better quality of urban life

Which of the following is associated

with Green Revolution ?

(A) Land reforms

(B) Poverty alleviation

(C) HYV technology

(D) Agrarian unrest

40.

41.
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Tl HIoTd ITH d 3TN

IS el shalld hiRUl Al ?

(A) I AT T

(B) UTHIUl Sk ded <Gy

(C) M ATl Sefatgr=an gari

YA ST

(D) A8 SfaATet =mTett Tore

a A

EetceTdeh] hIUdT o2k Bild ShidIei

Tafgg R ?

(A) STHH gUron

(B) <iiea fed

(C) oifyrer 3= QU= S aERE

(D) it &Ml STtiaan
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42.

43.

44.

Which one of the following is not a
type of power elucidated by
M. Foucault ?

(A) Bio-power

(B) Sovereign Power
(C) Disciplinary Power
(D) Surveillance Power

Derrida’s method of deconstruction

is aimed to bring out :
(1) Inconsistencies in the narrative
(11) Gaps and silences

(zi1)) Experiences

(tv) Discovering structures

Codes :

(A) (@), @) and (i)

(B) (i), (i) and (iv)

(C) @), (i1) and (iv)

(D) (@) and (i)

Who coined the term ‘Mistaken
Modernity’ ?

(A) Dipankar Gupta

(B) Yogendra Singh

(C) S.C. Dube

(D) Rudolph and Rudolph

42.

43.

44.

DEC - 14313/111

TCAeTish! 10T TH. ekl AT TI5e
Sl o=l YhRiUsh! UhR @ ?
(A) IEI-9TeR

(B) Wil (dE«m) dueR

o o o

(C) fefafe=d ger
(D) TdAH TR

e fo=m ugde 3

IS H T AR
@)
(i1)
(iti) I

(iv) HEAA MY
ek :

(A) ), D) & (i)

U

AT TorETTd

FEsRINCIRSE

(B) @), i) 9 (o)
(C) @), @) 9 (v)
D) @) = G1)
Heft ?

(A) gt T
(B) == f&m

(C) Ta.H. g

(D) %Sichk d TSich
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45.

Given below are two statements
labelled as Assertion (A) and
Reason (R) :

Assertion (A) : A.K. Saran was the
first to put forward the argument for

a ‘Sociology for India’.

Reason (R) : Saran believed that
European perspective needs to be
countered by a perspective based on

Indian values.

From the codes given below, which

is the correct answer ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

45. et gq faum foore

DEC - 14313/111

ARd. TehTd
faum (A) o1ftr gE=E &R (R) 3™
Ay A

faam™ (A) :  TRAEREE TR @
Tt T, T A Hemed Sen ghies
e hall.

&RUT (R) : U SRIhHTT YR

[N

Syl

eI AU RN T

Tifest, 19 W gren favard |

N e N

Trell fodiean GhamyA sTgsh 3k

fHaer .

- -
.
-

(A) (A) 9 (R) <=1 slsR AR 3fifor

(R) T (A) = 3T TR 38

(aY

(B) (A) F (R) Tl aeR 3Ted T (R)

T (A) ¥ g TR IR
(C) (A) WM 3R g (R) I& 3T

(D) (A) I% R W (R) L e
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46. Who is the author of the book, | 46. ‘3F== < ¥4 3® W' A QIR
‘Against the Madness of Manu’ ? AfEehT B0 TRT ?
(A) Leela Dube (A) o g3
(B) Sharmila Rege B) wfden
(C) Neera Desai
(C) e
(D) Vidyut Bhagwat
(D) forgd wrTerd
47. Which of the following would not
47. SeATadeh! IV e gHIRYSATERRN
be associated with secularism ?
ety @ ?
(A) State not involved in religious
(A) TsIgEl wifH® drefid HgWri
issues
e
(B) State treating all religions
(B) W&l 4HiAT USAEE §HH AN
equally
<d
(C) Performing prayers at the
beginning of a seminar (C) ==t FAT=AT eardral geiaTal o
(D) Religion is a private matter (D) gH & Tl 9« 3T
19 [P.T.O.



48.

49.

The debate on domestic labour is

based on :

(A) Division of labour

(B) Relations of production
(C) Sexuality

(D) Social Reproduction

Patricia Hill Collins’s Epistemology

can be defined as :

(A) Philosophic viewpoint based on

epistemology

(B) What one knows is affected by
the standpoint one has in

society

(C) Critical epistemology
facilitating interpretation of

life
(D) Multidimensional perspective to

experience and reality

48.

49.

DEC - 14313/111

T SIS Sefaas @eferde]
HIMN FaIfeq e ?

(A) gHfIarTo
(B) SHEAN Hey

(C) wfiehar

(D) 9HISh &G

AT Wielld JH hidl I

(A) JTTHTHTGTITIEATIY arrenfia

G[eHIEIRCRASIETE

(B) el S A BId, O 39T

OISR TR YR 3T9d

(C) @ Tafercas IAHHERTS, I

SiteATen STeFae Yot Hd

(D) 3HYa 9 SRaTa= ageArArH
[ASicaE]
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50. The Khairlanji Atrocities case | 50 el STEER T HIE TTLEH
explains : =0

(1) Combination of caste hierarchy

@) SrdE wWdw g fanyrEr

and gender hierarchy

TR

(z1)) Humiliation of Dalits

(i) <ol ArEST

(zi1) Rivalry on material level

(iii) Ufgeh Urdediericl T3

(zv) Coercion, violence and attack on

(v) TorT=n ufasser oo, <9
dignity of Dalit women

fea

Select the correct option from the

@relldl Hehargd Arg gatg faer .

codes given below :

(&) () and (iv) (&) G) ¥ Gv)
(B) @), (id), Gid) and (iv) B) (), Gd), (i) ¥ (v)
(©) (), (i) and (iv) (© @), D) T (iv)

D) ) and (o) D) (i) ¥ (iv)
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51. Match List I with List IT and select

the correct answer from the codes

given below :

List I
(Agrarian Unrest)

(@) Moplah Rebellion

(b) Deccan Riots

(c) Naxalbari Movement

(d) Halipratha Movement
List II
(States)

(i) Maharashtra

(i1) Kerala

(ii7) Bihar

(tlv) West Bengal

(v) Gujarat

Codes :

(@ b)) @ (@

A @ Gv) @) )

B) @) @) @

©) @ @ @

D) @) @

(@)
(@)
@) ()

DEC - 14313/111

51. @l 9|t 19 9- I1 |efied [igien

Sl e ST faetedn Hehdiehlqd A
IR feret

R |

(et AT ATTIAT)
(@) T FETR
(b) TEETH JTA

(c) A&IIaE] TBdcs

(d) TAYAT TBTB

R | |
(=)
@) TR
@) B
AR
(v) =" I
(v) TSd
Hehdieh :

(@ b)) () (@@
A @ Gv) @) )
B) @) Gv) @ @)
©) Gv)y @ @ @)
D) G) @ Gv) @)

22



52. Match the following and select the

correct answer from the codes given
below :

List I
(Theory)
(@) Liberal Feminism
(b) Socialist Feminism
(c) Radical Feminism
(d) Eco-Feminism
List II
(Argument)

() Reproduction and Violence are
key concerns

(z1) Women as oppressed class

(zi1) Equal status and opportunities
for men and women

(iv)

Women have potential to
nurture society and nature

(v) Economic empowerment is most
important

Codes :
@ b)) © @

(A) @) @) @)  Go)
B) @) Gv) @) G
(C) @) Gv) ) @

D) Gv) @) @) @

DEC - 14313/111

52. Slre e S Erelt feeiedn Fehdrgd

I ) e
w1
(fagia)

(@) STRAJART SR

(b) HHISERT Siere

(¢) SRHdaR] HiaK
(d) uRfeademsia Sieg

w10

(wfemare)
@) TS 9 e € e e
Gi) T weurs wifa ot
(i) S 9 qEET THE TSt 9 9
Giv) Toriere frad o g eordre

HIOAT &HAT ST

(v) oTfefer Helelioh Lol Hald HEca™

T9d
Hahd
(@ b)) © @

(A) @) @) @) Gv)
B) @) Gv) @) Gw)
(C) @) Gv) @) @)

D) Gv) @) @) @)
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53. Declining sex ratio in India is a

53- ‘i-ll{clldﬁlc"l Tl r("i”q{ ......................... EIT

result of :

TR 3T,

() Cultural subordination of

() form wpfie gmE
women

(i1) Materialist concerns about (i) Teafaud=a Ufehdac Ron

dowry
e N

(i) TommEta i g

(Z11) Sexual assaults on women

Gv) T STUHH
(v) Son preference

@lelld Hehdidesr! I 99 faer .

Select the correct option from the

codes given below : A) @), (i) T (v)

(A) (i), (@) and (iv)
(B) @) 9 Gv)

(B) (@) and (iv)

(C) @), (i) 9 (@)
(C) (@), (i) and (@)

D) @), (lv) and (i) D) @), Gv) = (i)

24



54. Given below are two statements,

one is labelled as Assertion (A)
and the other is labelled as
Reason (R) :

Assertion (A) : Whereas women’s
entry in formal jobs is assigned to
modernity, their contribution as
torch bearers of cultural practices is

not acknowledged.

Reason (R) : Most scholars looking
at Indian society analysed it in
terms of a binary division between

tradition and modernity.
Select the correct codes :

(A) Both (A) and (R) are true and
(R) is the correct explanatin

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanatin

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

DEC - 14313/111

54. Weital Tk faem (A) 1o =" SR

(R) 19 Tel¥el 3T :

faram (A) : foramn A= Te=arda
Jo¥ MYHRdges B, 3™ HFd S,

I AT FER{qeh RN STHUT

1 e 1 o R g S I g | S | S B | A

HROT (R) : YA HHNTY 3T9H
FHLOMTAT g9 fagMFl RA™ TR
fagaioon St Tgdia W ° enyfehd

T JHR Sl AR

Wefideht 9ra Hehd fHaer @

(aV haN

(A) (A) 9 (R) Tl & a1

(R) § (A) o 3T TILIHI Y

(B) (A) d (R) Tl seR 37 g (R)

T (A) T AR WER R

(C) (A) & SR 3 W (R) § TH
3

D) (A) ¥ 9% o Rg (R) ¥ TR
3T
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55.

56.

In a factory the labourers employed
are paid wages at rate Rs. 100.00
(one hundred) for rolling 1000 Bidis
(one thousand). This form of labour
is called :

(A) White-collar worker
(B) Casual labour

(C) Blue-collar worker

(D) Agricultural labour

Match List I with List IT and select
the correct answer from the codes
given below :

List I
(Books)

Studies in Agrarian Social
Structure

(@)

b)

Social Background of Indian
Nationalism

(c)
(d)

Remembered Village

South India : Yesterday, Today
and Tomorrow

List II

(Authors)
(z) Daniel Thorner
(Ii) Andre Beteille
(iii) T.S. Epstein
(v) A.R. Desai
(v) M.N. Srinivas
Codes :

(@)

(A) (@)
B) @)
(C) @)
D) @)

b)
@(iv)
@(iv)
@)

@(iv)

) )
() @)
) @)
@) (v)
@ (@)

55.

56.

DEC - 14313/111

TehT HRETIMEE THACA] ST
Teh TR fosdl dgevaddt IR ¥4
ool . SR A YhIell
U ?
(A) TETURE HHER
(B) 9rEfiTeh SR
(C) hHTR
(D) FHfufasaes HHIR
el el 19 ARt 11 Jefid Aicr=
Sireen aran i feetedn ehdiehigd A
B ECE I

aer 1

(TR
(@) VSIS = {IRTT O EF
(b) IRTA TS A SFeam FeHfere™
) T=eE feos
(d) =Y gfe

AR

D

: IR, T2 IS

o 11
()
G) <MHTa o
(i) 3= od
(i) 3T, TR
(lv) T.3R. TEE
(V) AT e
Hehdiah :
@ &)
(A) G) Gv)
B) @) (v
C) G) @)
D) @ ()

) )
(v) @)
(v) @)
@iir) (v)
@) @)
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57.

58.

59.

60.

The latest science and technology
policy of India 2013 emphasises
on :

(A) Technological competence
(B) Promoting Scientific Temper

(C) Increase in Investment in
Research and Development

(D) Innovation

Till what age is the labour of a
youngster classified as child labour
in India ?

(A) 12
(B) 13
(C) 14
D) 15

The concept of absolute poverty is
grounded in the idea of :

(A) Social exculsion
(B) Cultural relativism
(C) Social deprivation
(D) Subsistence

According to PESA Act, which
institution has been given power to
grant licence for mining in tribal
areas ?

(A) Village Panchayat
(B) Village Sarpanch
(C) Gram Sabha
(D) Gram Talati

57.

58.

59.

60.

DEC - 14313/111

YA 3.9, 2013 At fogm aqfor
RERIEIEERERC N EI IR R IR ]

dreitenl e fool e’ ?

UNBGERIBIEERERCIR L]

(B) SHfieh TEeIehMIET SaisH

(C) genierw  erfor  fasmrargret=an
RRENEIREC I
(D) =fa=an

R fordt o8 RmaRla=ar qeume S|
T IS AT SfehIund Adrd ?

(A) 12
(B) 13
(C) 14
(D) 15

ey Ticem=t Seheq
FHoUIeR YR 3R,

~

(A) TSR afStadr

(B) WiEhfae QrUETE

(C) SIS aferad
(D) fatg
‘UHT’ HTIETTHR I el et

ALY WU h0ITE AT QuaTHl

AYHR oA 3Tl T ?
(A) T Y=

(B) UM U=
(C) UM |9
(D) TH TSt
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61.

62.

63.

64.

The committee to investigate
into incidence of malnutrition in

Melghat area of Maharashtra was
headed by :

(A) Abhay Bang
(B) Sham Ashtekar
(C) Rani Bang

(D) Abhay Shukla

Name the scholar who uses the
concepts of ‘orthogenetic’ and
‘heterogenetic’ changes in his
analysis of process of modernisation
in India ?

(A) M. Singer
(B) Y. Singh
(C) M.N. Srinivas
(D) S.C. Dube

Which of the following committees
highlighted the depressed socio-
economic and educational status of
Muslims in India ?

(A) Bhore Committee

(B) Sachchar Committee

(C) Mandal Commission

(D) Swaminathan Committee

Which of the tribal groups of
North-East is seeking a separate
state to be carved out of Assam ?

(A) Bodo
(B) Mizo
(C) Garo
(D) Kuki

61.

62.

63.

64.

DEC - 14313/111

HERTSIAT HedHe HIIdtel SR arsorr=
SITE HITIEIES ol A= gqe

(A) AT &7
(B) M TEHI
(C) woft &
(D) AYT ekl

qRArdte st iom=ar gfea=
favawor s fei@ta’ 9 ‘sferia’
qfted-Tear el il fagram
e ?

A) . far
(B) am. fam
(C) TATH. #ifqam
(D) Ta.Hl. gd

ARATATC JEAH=T SHTTSIeh - ST 3o
SreIfUTeh AN STERETd sheredl
qfde e & STy ?

(A) R |fyd

(B) H==R) wfHdt
(C) Hea M
(D) TR it

STHEHYA A3 G U HES
SHITT SfATE T W= TS AEToft
*d A ?

(A) e
(B) freh
(C) ™
(D) HH
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65.

66.

Which of the following is a tribe of

Andaman Islands ?
(A) Santhal

(B) Bhil

(C) Onge

(D) Toda

Foucault’s research was focused
broadly in three areas of history.

Which are they ?

(I) Study of Psychiatry
(II) Medicine

(ITT) Penology

(IV) Education

Codes :

(A) (I) and (II)

(B) (II), (III) and (IV)
(C) (D, dI) and (III)

(D) (I, dII) and (IV)

65.

66.
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Greflerdent v SAferl SFTHH SR

TEeedrd 2
(A) I
(B) e
(C) 3

(D) <rel

ekl AT GYNYA SATIRYY SfagrEr=
9 & Sargd Sed e o &
IO ?

(D) HATRRTETE S
(IT) Arorerferm™
(IID S eme

(IV) fereror

Hehd :

A) @ = dD

(B) D, dII) = (IV)

(C) (D, D = (I1D)

D) D), dID = (IV)
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67.

68.

Which of the following sets has the

correct list of communities

considered to be minorities in

India ?

(A) Christians, Muslims, Jews

(B) Muslims, Buddhists, Jains

(C) Christians, Zoroastrians, Jains

(D) Sikhs, Zoroastrians, Buddhists

Which language often used and
spoken in Indian Parliament is not
listed in Eighth schedule of the

Indian Constitution ?

(A) Sindhi

(B) Nepali

(C) Santhali

(D) English

67.

68.
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TTATed ! HITAT FaTdra FHar

TRATA AeqaEdTsh A e

Sfard ?

(A) GiveH, &I,

(B) g&iH, stg, S

(C) Twed, IREH, S
(D) ¥ftE, FEH, 95

YR GUed hIO HToT ST JHTomd

dieTell d aT9iel] Sd ehi St YRd™"

A9 TS STIg= HEl HHIfos

T ?

(A) ot
(B) el
(C) Gerett

(D) st
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69. Given below are two statements. One

is labelled Assertion (A) and other

is Reason (R) :

Assertion (A) : There is no absolute
way of defining a deviant art, as

deviance is relative.

Reason (R) : Deviance is culturally
determined and cultures change
overtime and vary from society to

society.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanatin

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

DEC - 14313/111

69. el <= faum feel smRd. T

faum (A) snftl oA &R (R) 319
AT AR :

faam (A) : fauumfasfast =men
Lo S AR T fagermia ame
3T

SHRUT (R) : foqermeica Arepfaen-grean

fAuifid g 9 9%pfd Hlerdar 4

HHSTTER S

o N

feoledl Fohaiaygd 3Tgsh Iar

faer

T

-
-
-

(A) (A) 3T (R) St IR 3Ted AU

(R) § (A) ¥ 3T TILIHI Y

~

(B) (A) o (R) Sl s{ieR 37ied Wy

(R) T (A) o 3T TR AR

(C) (A) & SR 3 W (R) © TH
3

D) (A) § 9% 3R WG (R) T IR
3R
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70. Which of the following speech

71.

varieties of Hindi is spoken in
Uttarakhand ?

(1) Garhwali
(2) Marwari

3)
(4) Bhojpuri

Kumauni

The correct code is :
(A) (1) and (2)

(B) (1) and (3)

(C) (2), (3) and (4)
(D) (1), (2) and (4)

As per the prevention of Domestic
Violence Act, 2005, violence is
defined to include which of the
following :

(1) Physical
(2) Mental

3)
(4)

Choose the
below :

(A) (3) only

(B) (1) and (3)

(C) (1), (2) and (3)

D) (1), (2), (3) and (4)

Sexual
Economic

correct code from

DEC - 14313/111

70. IAUESHE] WIcicTdeh! ShIOCAT TR

71.

fedt et daett S ?
(1) et

(2) HRAR

(3) HHSA!

(4) SSTqd

ar gaha faer

A @ 9 (2)

B) @ = (3)

C) @), Q) T @)

D) 1), (2) 9 4)

a e

CAA

fegr gfaeier sRTa_T 2005=A1

$

|
3T TeE= e Ereiierdent ShIvre
Medfen sfadia ddar ?
(1) I
(2) AHES
(3) wifireh
(4) @i
Ay Geha feren .
(A) F2 (3)
B) 1) 9 3)
(€ (1), (2) F(3)
D) (D), (), 3) T (4)
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72. Which of the following books | 72 wrciiciis! Hiven qeawmed fashm@mm
reflects Gandhian approach to i T Wi g 2
development ?

(A) T TREE gH
(A) The Asian Drama
(B) T WA 39 SffcHa
(B) The Small is Beautiful
(C) T WY@ JHURE 3w sfead
(C) The Social Background of
Indian Nationalism 5
(D) The Annihilation of Caste (D) T e st e

73. In whose philosophical work the | 73 3z 9= yeeTTST SHSETET
intellectual roots of Sfghes HIVIEAT qEAHS A
Phenomenological Sociology of )

Schutz lie ?

(A) TeHE TIA
(A) Edmund Husserl

(B) &id I
(B) Herbert Mead
(C) George Hegel OB LR
(D) Martin Heidegger (D) A &SR

33 [P.T.O.



74.

75.

“A process in which individuals come
to mutual understanding and
consensus through non-coercive
debate and discussion.” This applies

to :

(A) Communicative Action
(B) Colonization of lifeworld
(C) Rational Communication
(D) Communicative lifeworld

Which of the following, according to
Althusser, are the instruments of

ideological state apparatus ?
(I) Education

(IT) Army

(ITT) Family

(IV) Prison

(V) Media

Choose the correct answer from the

codes given below :
(A) (D), (II) and (III)
(B) (D, V) and (V)
(C) (D, aAV) and (V)

(D) (I, II) and (V)

74.

75.

DEC - 14313/111
“oreft wfewar &t o= SIgHATHS

diefoare o IdigR el TER HIHSE

9 ATl dr=dra. ! g S e

kel @] 9ed ?

(A) HUYUTHS  Toman

(B) SitosiTare Sdmgdichio
(C) difeher TYHOT
(D) GUYUMCHe ST

TSR AT Wl WA TeTdeh! qeaduIei e

A IS0 FHA RO ?
(D) fereqor

1) ST

(IT1) hed

(IV) g&Tt

(V) wHred

o N

fqATdl Whdlqd & I

T

ferer -

A) D), dD = (IID)
(B) dD, V) = (V)
(C) (D, AV) T (V)

D) @), dID = (V)
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ROUGH WORK
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